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Before continuing with vector spaces | prove a few very important identities

Recall that we had
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Going back to vector space and inner product QQ()
Nontrivial examples of vector spaces
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A subset W of a vector space V is a vector space with the same addition and scalar product if we only show that it's closed w.r.t. vector
addition and scalar product.
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nner product vector spaces:



Vis an inner product vector space if it's a vector space and is
equipped with an inner product . that satisfies:
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For any inner product vector space we have the following
inequality (called Cauchy Schwarz inequality)
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In inner product vector spaces we can talk about magnitude |f|

and angles ag
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